Axia College Material

Application: Polynomials
Application Practice

Directions:
Answer the following questions. Use Equation Editor to write mathematical expressions and equations. Remember to change the color of your answers so there is distinction between the questions and your answers.  You must show your work to receive full credit. First, save this file to your hard drive by selecting Save As from the File menu. Be sure to name the file: Your name, Application: Polynomials. Click the white space below each question to maintain proper formatting. 

1. The average discharge at the mouths of the Amazon River is 4, 200,000 cubic feet per second.  How much water is discharged from the Amazon River in 1 yr.?  Express the answer in scientific notation. 
2. The net consumption of electricity in the United States can be approximated by the polynomial equation
E = 75.72t + 3378.11, 


Where E is the consumption of electricity, in billions of kilowatt-hours, and t is the number of 


Years since 2001 – that is, t  = 0 corresponds to 2001, t = 9 corresponds to 2010, and so on. 

a.) Approximate the consumption of electricity, in billions of kilowatt-hours in 2001 
b.) 2005
c.) 2010
d.) 2015
e.) 2025
f.) Do your answers to a-d match your expectations?  Why or why not?
3. The break even values for a profit model are the values for which you earn $0 in profit.  The profit equation for a golf ball company is:
P = -x² + 56x - 300


What are the break even values?  In other words, how many boxes of golf balls must they sell to


break even?
4. In apartment 3B, lamps, an air conditioner, and a television set are all operating at the same time.  The lamps use 10 times as many watts of electricity as the television set, and the air conditioner uses 40 times as many watts as the television set.  The total wattage used in the apartment is 2550.  How many watts are used by each appliance?  (Hint: you must set up an equation).
5. Hadley Electronics is marketing a new kind of plasma TV.  The firm determines that when it sells x TVs, its total revenue R (the total amount of money taken in) will be
R = 280x – 0.4x² dollars
a.) What is the total revenue from the sale of 75 TVs?
.
b.) 100 TV’s?
6. Factoring:

a.) Sam factors x³ - 8x² + 15x as (x² -5x)(x-3).  Is he wrong? Why or why not?  What advice would you offer?
b.) A student presents the following work: 4x² + 28x + 48 = (2x+6)(2x+8)

 =  2 (x+3)(x+4)



Is it correct?  Explain
c.)  Cade concludes that since x² - 9 = (x+3)(x-3), it must follow that x² +9 = (x+3)(x+3).  What mistake is he making? How would you go about correcting the misunderstanding?
7. A customer wants to make a teepee in his backyard for his children. He plans to use lengths of PVC plumbing pipe for the supports on the teepee, and he wants the teepee to be 12 feet across and 8 feet tall (see figure). How long should the pieces of PVC plumbing pipe be? 
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How long is the PVC pipe? 
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